	LT 1: Sex and Gender: Key Concepts

	Sex is a biological term which tells us whether someone is male or female. This is determined at conception, when a sperm fertilises an egg. A person’s sex is obvious through characteristics present from birth e.g. the penis or vagina. As an individual gets older other characteristics develop e.g. breasts or facial hair. 


	Gender is a psychological term that tells us whether an individual is masculine, feminine or androgynous.


	Gender
	Traits
	Roles

	Masculinity: A gender term associated with male traits and roles

	Aggressive, Competitive, Logical, Athletic
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Going out to work, playing football, playing rugby, boxing, DIY, fighting
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	Femininity: A gender term associated with female traits and roles

	Caring, Considerate, Enjoy gossiping, Flirtatious, Compassionate, Sensitive
	Staying at home to care for the children, playing with dolls, cooking, sewing, ballet, dress making, shopping
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	Androgynous: A type of gender where an individual shows high levels of both masculine and feminine traits
	Aggressive, Competitive, Caring, Considerate, Compassionate, Logical
	Playing football, cooking, DIY, dress making, boxing, ballet, fighting, shopping

	Both sexes can display androgynous behaviours. There is evidence that more people are androgynous now than in the past, which suggest that gender roles can change. Gender roles can also change within a lifetime for example, a girl may be a tomboy as a child but grow up to be a very feminine woman.

	Exam Question

Give an example of androgyny (2 marks). To gain full marks here, you MUST include both masculine and feminine traits/roles in your example. To say ‘A girl who likes fighting’ would not be enough. Just because the character is a girl doesn’t mean she is automatically feminine. Therefore you need to include a feminine behaviour too. E.g. ‘A girl who likes fighting and ballet’. This shows both sides of androgyny and therefore you would receive 2 marks.


